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or the questions 5]
I qu =
1. Answer/Choose the correct option of the 2
A Vi following : 1x8=81T
i e e e firr/Rom Seach AR Sféied :

(@) When was Zero-based Budget
introduced in India?

SRS (feq| A-fofe et (ZBB) 4%
91 cafe 2
i) 1986
33y B9
(i) 1987
33t-q Belie
A25/821 ( Turn Over )
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(2) (a8
(i) 1989 (i) UMANG is developed as a mission
5L o by the Ministry of Defence to
1 combat terrorism and to boost the
(v) 1990 morale of the Agniveer in the Armed &
3550 B Forces. - (72
(2=
() Who gave the ‘systems theory’ in public TIPS Reca qReatel s g q1RSre :CE =
policy? SRS TARE 3T AR AT @ c e
ETFAC®  ‘systems theory’ @l 2@ UMANGE <% wfe3r foed Rsfie E,’ e
IRMze 2 ez | C -
o R O
() Woodrow Wilson A
; (i) UMANG is a key component of the -
R Digital India initiative which is & %
i) Harold Toswell known as Unified Mobile Application ';Y‘r'l s
for New-age Governance. 9]
RIS R i m
fi) Dagidfe e i UMANG (e fSfebe 2fa «meas @i
At T T RO SRwRe e
SIRTE afaicw (Unified Mobile
(iv) Dwight Waldo Application)d f%-q& ses (New-
125 AT

age Governance) 3fe1 &1 319 |
(¢) Which of the following is not correct?

(iv) UMANG is developed by the Ministry
O (IIACD] % T2 2

of Electronics and Information
() UMANG is developed

: Technology, Government of India.
to drive
Mobile Governance in India. TS R W w2y ﬁ,{ﬁ;
SHeS (RZE SRefHe et fym e JREE UMANG Refie 3Rcz |
UMANG 5% 41 toz | :
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(d) According to the Lokpal and Lokayuktas
Act, 2013, the Lokpal shall consist of
maximum members including the

Chairperson.
EEE S GRS WiEd, 0399 W,
Sy e W @R T eIE
(AR 918 2 |
(i) Seven

i)
(i) Eight

o]
(iti) Nine

o
(iv) Ten

2

(¢) How many days of employment are

guaranteed under MGNREGA?
MGNREGAY s fer fima fcam Ao
391 (&R?

() Which ministry is responsible for
implementing  the National Health

Mission?
B AW ST IR R A
e ?
A25/821 ( Continued )
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(i) Budget formulation
CHH SREFSTT
(iv) Audit and evaluation

fo1°1 (AR ST e

2. Answer the following questions (any six) :
2x6=12
oo f GG =1 e TeS s

(@) State any two ways in which public
policy is relevant.

RIS R e 751 2P et S <1 |
(b) State the significance of budgeting.
AqACH> AFSFIT T 8Fg BEY 1 |

() What do you understand by Green
Budgeting?

CTO% B TG 1 g 2

(d) How does policy evaluation contribute
to effective governance?

e FREA @I IReE AP w2
SIS 2

(¢) What is Red Tapism?

Jo fFOR eI e 1 2

A25/821 7 ( Continued )

(99 Which of the following approaches to

(h)

the study of public policy focuses on the
roles of institutions like legislatures,

courts in the policy-making process?

TR e Fae R e e 6

oo ARETe  SEAeR,
s e e i ?
{ij Group approach
v sk
(it) Institutional approach
S TEsed
(i) Rational choice approach
offs R B
(iv) Incremental approach

feore S

Which of the following is the first step in
the budget cycle in India?

RIS TR S e Aferar 22 7 ?
(i) Budget execution
QD IR

(i) Budget enactment

SO AR

A25/821

(9)

H

()
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How can active citizens’ participation
contribute to good Governance?

A& SPIARE SR R S
ST I 2

Mention two major challenges in the
implementation of the National Food
Security Act (NFSA).

B A T ADE AR CPaqe ¢l
01 24 OIS R S 1 |

Which Article of the Indian Constitution
is related to the Right to Education?
Which constitutional amendment
included the said Article in the

Constitution? 1+1=2

SO FRRAF P! S e S
=TS GY© 7 (@Ml SRR AT Te
RS A SEee I 2

Mention two ways in which government
budget affects the economy.

SRR TG WA ZeRe T
SeE

Mention two aims of MGNREGA.
MGNREGAS 751 o7 T3 <1 |
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3. Answer the following questions (any foun :
5x4=20
T R CPIGATT BIf0T opd T fore -

(@) Examine the role of different actors
(government, civil society, media) in the
formulation and implementation of
public policy.

SRFR, Mo TG W 5w W =i R
T GRS 2IEes1 IF FRSAFITS Sl
“F{CeATSTT %54 |

(b) Explain the key features of performance
budgeting. Distinguish 1S from!
zero-based budgeting with suitable
examples. 2+3=5

FROMAIE AT T [REPR I 4 |
SRS Triz BiTe W -fefew eEta

R %2 1 | —

() What are the ways to enhance the
quality of public service delivery in
India?

SRES  ERERl M WS IfE 99
TomPTR 5 50

(d) Evaluate briefly the functioning of
anti-corruption authorities in India.

SHS TACRCTR SkEPmza eremT R

5F SEOIN 90

A25/821 = ( Continued )
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4. Answer the following questions (any two) :
: 10x2=20

e TR (e o e fore

(a) Discuss the different stages of the
budget cycle in India. Highlight the role
played by various institutions at each
stage ensuring financial accountability.

SRee s e [foq riEemR S
901 Afecsr Rige {8y mEREe e

fafSn S o 41 SHwPTR S 341 |

(b) Examine the policy process in India,
focussing on the stages on formulation,
implementation and evaluation and the
key challenges faced during each stage.

Discuss any three approaches to public -

policy-making. 7+3=10

TS 2@, FRENFI E TR F 92
crae  Afechl e TRM @R T
AONRFPTR SRy FR SRed e ffi afr
R “ficea 91 | Eeae iR /& e
fofior yfee<a Sicems 21 |

(c) “A Citizen’s Charter is the expression of
an understanding between the citizen
and the public service provider about
the quantity and quality of services

A25/821 ( Continued )

i

A

(9)

(e) Discuss the main features of the Right
to Education Act, 2009.

freR SRR WRw, 0033 II GRER O

A 341 |

() Write a note on the Food Security Act,
2013 pointing out its features.

4 AT iz, 20597 mm’(ﬁ
«f5 5 (B ol |

(g) Discuss
contributed

09 1 muanopy

how MGNREGA has
to ensure rural

493717

development in India.

MGNREGAZ SR 2 Tage [fHFreedrs
(R SRRl SHI9REIRCR, SCvAl 1 |

(h) Define

Public Policy. Differentiate

between the institutional approach and
the rational choice approach to the
study of public policy.

EFAET 5@ 7 | TS IS S

NH%IWP ‘1lz\':i% e e mo Ao

e RS
& i '{IOV\’IIV

TR A1 SeEs T4 |

ADR/R21

@)

(e)

A25—22*/821

OTR
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citizens receive in exchange for their
taxes.” Do you agree with the
statement? Give appropriate reasons
and evaluate.

“aqefie v caer efice wmm far @99
RS =S 41 CER ARYT W BT T+
Reca Tifke 1® TR ZHERE qewo
@@ @R 4 o @3 SR o
GFTS (1 ? (OHR TSHT FCF TS e wfiR
T |

“There is need for a strong and effective
grievance redressal mechanism in each
organization.” Do you agree with the
statement? Give appropriate reasons
with suitable examples in support of
your answer and evaluate.

“ofShl ofPme o Rl wE IR
wfecnl froefe IR dames W 1 9 @
e TS TS (1?7 (ONF & FATE
TR TS TR Y S92 JoATE 1 |

What is social welfare administration?
Discuss different approaches of social

welfare.
STHIGS Tl 2P 2 e 3emed
RifSa gzt Scers 11 |
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